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Problem 7
The equation x —94/x —22 =0 has
(A) no solutions
(B) a solution
(C) two solutions
(D) three solutions
(E) I choose not to answer this problem.
Problem 8
Which statement is true?
(A) 1,1 > 1,05% G 2ol = 2
(B) 1,04300000 1 12100000 127, nowiaas tutaserAd | Qilenend
(C) 12000 < 1,12100000 C oA ota v oA
(D) 12000 5, 1 (4300000 ? \«%
(E) I choose not to answer this problem.
Problem 9
—1)(12-3
The inequality b (i(_ b)) x) < 0 has the solutions — 3?%“ ATx c3 T M \,
(A) xis anelementin [1, 4]
(B) x is an element in (—oo, 1]U [4, 00)
(C) xis anelementin [1, 2) U[4, co)
(D) x is an element in (—oo, 0] U (2, 4]
(E) Ichoose not to answer this problem.
Problem 10
A cost function C(x) is supposed to satisfy three conditions:
(1) c(0)>0 —
(2) C(x) is an increasing function o 'H S AL S

A, ————— oA R Ma o

(3) C(x)is a convex function

Which of these functions is not a cost function?
(A) C(x)=0,01x+1200,x=0

(B) C(x)=2800e>1"3) x>0

(C) C(x)=1000In(x?+50), x =0

(D) C(x)=0,005x2%+0,1x + 900, x =0

(E) Ichoose not to answer this problem.

Problem 11
Let p be the price of a commodity and suppose D(p) = 100 — 2p for 0 < p < 50 is the demand
function. Which statement is true? D' (
- - i f)-P |
(A) If 0 < p < 25 the demand is elastic E\QS'(’! G 8(? ) = . L -
(B) If p = 20 the demand is unit elastic PE)

(C) If 25 < p < 50 the demand is elastic : 3 5
(D) If 10 < p < 40 the demand is inelastic (afso solurer Tuel =l - c’?‘?oc"k

(E) Ichoose not to answer this problem. TweGuas %3
s wash Q\—MH(‘_ mﬁ}kq\;ﬂ—\h >
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Problem 12
Which of these functions has no vertical asymptote?

A) f(x)=In(x) XxX= O

B) f0)= x=-1, x=z-3

© f(x)zzf;gs X =-2.5

(D) f(ﬂ=ﬁ6 . Gt fese all ¥ arcowst &% 6xtlo = (x-3)z’f\ >

(E) Ichoose not to answer this problem.

Problem 13
I figure 3 we see the graph of the second derivative f”/(x). Which statement is true?

I |

~

Figure 3: The graph of f”(x)

(A) f(x)is concave for x between 5 and 8

(B) f’(x) is concave for x between 7 and 10

© f'2)<f'(5)

(D) f(x) has to be decreasing for x between 2 and 3
(E) I choose not to answer this problem.

—t — -
Problem 14 "b, ~
We want to write all third degree polynomials of the form x> + bx? 4+ cx + d whiclf have three !

zeros, the middle one of the zeros should be 3 more than the smallest and 4 less than the largest.

Which of these polynomials is not such a polynomial? r-2 - rry
A (x—r)x—r—4)(x—r+3) IL\_,N,-.: ra—s e o
B) (x—t)x—t+3)(x—t+7) 13 Yy -3t
© (x—I)x —k—3)(x—k—7) * A B
M) (x—s+1)(x—s—2)x—s—6) i — : ‘_/\J
(E) I choose not to answer this problem. Lt =,

Problem 15
We have the function expression f(x) = % with domain of definition Dy = (1, 00). Which
statement is true? hbp,er bda Fu\«,c -
(A) f(x) has no inverse function Y= __

(B) f(x) has an inverse function g(x) with domain of definition D, = (—00, 5

3

(©) f(x) has an inverse function g(x) with domain of definition D, = {(—00, 5

(D) f(x) has an inverse function g(x) with domain of definition D, = (5, oo)
(E) Ichoose not to answer this problem.




